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2= 2] Al = e]
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FOFEZdQ(E]E R Folgeas
EIA= OX] ‘:]_(ﬂ<‘]E\__,JJ—J’]—‘4 F295) 7,200,000
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fﬂ%f&ﬂ%‘ﬂ&%{l (hd¥ 35 Ae%) 3.400.000
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5. 5 A AL 17530 9,780| 10,980  -1,200| A LAY -1,850,0009 < 13]= -1.,850,000
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A AL =] 3 o] 3ln - 9
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7.(2)2019. A9 92435} ALY 47,500 0| 47,500
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2.8 589 4,695 4,695 0
L& 4,695 4,695 0
3.3 4% 4,960 4,960 0
1.gukg8-H) 3,760 3,760 0
2. 0SS o n) 1,200 1,200 0
4. (B)WeeFd 2 &9 2,000 2,000 0
l.eds3 200 200 0
2. g 1,800 1,800 0
5. (F) il E A AR 29 6,720 3,360 3,360
1eds 6,720, 3,360 3,360 (S HAMEEIALEAAL S 10,0004 3,360,000
X 33641 7Fx 1=
6.(F)=5dAag 4 3,500 0 3,500
1Le95g 1,960 of 1,060 HEAT 70,0008 <1412k 22) 1,960,000
2.5 740 0 740[ (B EA)LEEFE 7Y 20,0009 < 377)= 740,000
3.2 AL ¢ F 3 ) 800 0 800 g??)‘g‘? Fol5u 20,0009 <2073 800,000
LATFEal - 1,025,000| 1,000,000/ 25,000
1.et a3 1,025,000| 1,000,000, 25,000
1.2k & n| 32,520 52,520 20,000
1717t A1 2 917 m] 17,645 34,720| -17,075/H A4 28] -2,080,0009 X 15]= -2,080,000
%‘jjj;:ma wEE Exu] -800,0004 ~800.000
i?ﬂﬂxle_ga BAF7H] 2,000,000 ~2.000.000
FAdA LA 1] -6,595,0009 X 13]= -6,595,000
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= =
4. EAALYG FH-F10 ] 3,000 3,000 0
2. 315748 581,280 561,280 20,000
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9. 71 efA A A 2,640, 2,640 0
Ea)
10. HA ALY F %11 2,000 2,000 0
11. 9] 3790 v 23,800 23,800 0
7.(E) st Al 2 25,000 0 25,000
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A3 ) skA ol L3] Wl Halool
2.3 g v 15,700 ol 15,700/ I A AT R HA 2,220,000
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(YR WS 420,0009 < 33])= 1,260,000
S =2 Z] A 3L 29 o °
& MJ)L_E AetzgaAee] 21,7509 3,480,000
X 40™ X 43]=
] W e E 9odn o
(o%-ﬁ)-“—_q'yﬂ—‘l“ao SURNG) ] 370,000 3,700,000
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Al 2] 2] 2 A A BN 3= °
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3. EAAYG G F-F71] 1,200 0 1,200/ (A @)@ 238 20,0009 x 207 x 33]= 1,200,000
FALA 2+ 18,211 18,211 0
19895489 2,840 2,840 0
1.EA 2 2,840 2,840 0
1. 0529 H] 2,840 2,840 0
2.4 B389 15,371 15,371 0
1.8 g2 s« 15,371 15,371 0
1. 3052 H] 9,600 9,600 0
2. 71 e 5] 5,771 5,771 0
Foj 71 A 24,150 24,150 0
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1. 02 9o 14,124) 14,124 0
1. g9y 57 10,800 10,800 0
2. A AFYGFF74| 3,324 3,324 0
2. W29 44,460 44,460 0
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3.} 96,700 96,700 0
1. dnkg=89) 35,280/ 35,280 0
2.4 9,000 9,000 0
RRmEA IR Rt 1,920 1,920 0
4. 9]FT-50H] 50,500 50,500 0
2.9 AJNH & 44,097 44,097 0
1 AFFAFAN(T S R2.3] 7)) Q11 H] 43,367 43,367 0

1. 571 A1 k4 9 Q171 v] 38,467 38,867 -400| ® 25 -400,0009 < 13]= -400,000
2.3 uIAdFT 780 780 0

3. BE Y E A 400 0 400 | ZFFEA 8] 400,0009 X 13]= 400,000
;’;ﬂﬁl%‘&‘%ﬂsﬂé—‘?— 3,720 3.720 0
2. WA F AL A 1 1 A 730 730 0
171 AFA A7 730 730 0
A A A 388,117| 388,896 =779
1.3F A 73] A 388,117| 388,896 -779
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